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Question ID : 719399756
Status : Answered
Chosen Option : 2

Q.1 Which of the following is used in Microsoft Word to quickly apply the same formatting, such as color, font style and

2 size to multiple pieces of text?
Ans & 1. Cross reference
/< 2. Clipboard

/< 3. Drop cap

« 4 Format painter
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6 for its representation?
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/< 2. Binary

Q.4 Fora given number (e.g. 14), which of the following number systems will use the least number of digits (or symbols)




/< 3. Decimal
/< 4 Octal
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Question ID:: 719399821
: Answered
Chosen Option : 4

¥ B F Fl O o 95T B |

TETTT O
v 2 4T \
X 3 A \

Ko 7ed ®
Question ID : 719399823

Status : Answered
Chosen Option: 2

Question ID : 719399833
Status : Answered
Chosen Option : 2

T P # ¥ a5 & T ¥ e uee A W

Ane X1 Rrsagor
X 2 femTor




X 3. JrEAToT
v o RERoT

Question ID : 719399831
Status : Answered
Chosen Option : 4

U B # T @ gar & gIarET a8 3
Ans x1m

X 2 9deT

P 11

v o g

% o & wi @ o 9emH B2
Ans X qm
2 SauT
X3 A
X4.§|;|-

Question ID : 719399824
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Section : General English

ARROGANT

Ans X 1. hﬂl]ght}'
5 2. proud
« 3. modest

/< 4. superior

Question ID : 719399845
Status : Answered
Chosen Option : 1
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@3 Select the most appropriate synonym of the given word.

IMPOSE

Ans




21 allow
v 2 force
< 3. manage

X 4 close

Question ID : 719399843
Status : Answered
Chosen Option : 3

Q4 Select the most appropriate phrase to fill in the blank.

Ans X 1. falls behind

Our new typist

& 2 falls away

X 3 falls back on
« 4 falls short of

my expectations.

ueﬁon ID: 719399848
Status : Not Answered
hosen Option : --

Q5 Select the most appropriate option to fill in

Renu has been called

Ans 1. in, about

/X 2. at, for
/< 3. on, for
W ¢ for, by

theﬂ:&
an interview & firm.

0 Question ID : 719399838
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Question ID : 719399842
Status : Answered
Chosen Option : 1

Q.7




Select the most appropriate idiom to fill in the blank.

The cat made many attempts to catch the mouse but
Ans  of 1. in vain
/< 2 in short
/< 3. in the long run
/< 4 in a nut shell

Question ID : 7193998
Status : Ans!
Chosen Option: 3

Q8 Select the most appropriate option to fill in the blank.
He wantstodiscuss  datesheetfor  coming examinations. 4
Ans X 1. No word required, a
/< 2. the, No word required
/< 3. a, the .
W 4. the, the

Question ID : 719399836

L
Status : Not Answered
& Chosen Option : --
Q9 Select the correct passive form of the gi%lce.
People do not take the law seriously
Ans 3 1. The law is not being t@ﬂ by people.

' 2. The law is not taken sgrious people.

/5 3. The law has not beg iously by people.

/< 4 People are % ously by the law.

Question ID : 719399850
Status : Not Answered
Chosen Option : --

Q.1 i i i
o Select the appropriate option to fill in the blank.

The stray dogs our colony are a nuisance.
Ans X 1. at

X 2 on

v in

#< 4 about
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l Chosen Option : 3

@1 Select the most appropriate ANTONYM of the given word.

TENDER
Ans x1_ kind
« 2 tough

/X 3. affectionate
X< 4 delicate

Q.1 The following sentence has been divided into three parts. One of them may be incorrect. Choose the INCORRECT part’
2 fromthe given options.

The song was so moving/ as all eyes/ became wet.

Ans X 1. became wet : “
< 2. The song was so moving
« 3 as all eyes
®

/< 4. No error

Question ID : 719399847
Status : Not Answered
Chosen Option : --

&' Select the most appropriate option lank.
Afinebreeze  and the cli ying Kites
Ans 1. has blown
& 2. blows

Question ID : 719399840
Status : Not Answered
Chosen Option : --

correctly spelt word.

Ans X 1. mantfachure
X 2. menufacture
X 3 manufecture

' 4 manufacture

Question ID : 719399846
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l Chosen Option : 4

Q.1 : - .
. Select the most appropriate option to fill in the blank.

had we stepped out we got drenched.

Ans X 1. Although, yet
/< 2. Both, and
« 3. Hardly, when
X 4 As, so
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